Chapter 7: Equations
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Equation 7.10:

95-P [5, 550 3,182, [>+>:300,000 35(?’ 000 _ 4 < 5,550+ 3,182, [21>:300.000 3:’(;” 000 ]

=P(-3,384< 1 <14,484)

Equation 7.11:

95=p| 4,0485-2.101, 293402560 _ 54 0485, 2 101, [203:402.:560
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=P(1,518.7< 5 <6,578.3)

Equation 7.12:

95— P(4,538.6—2.101 321,259,927 i:g’gﬂ < p<4,538.6-2.101, | >21 259,927 i?i'gﬂ )

=P(1,650.4< 8 <7,426.8)
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Equation 7.15:

Equation 7.16:

l-a=P| £t
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Equation 7.18:

Equation 7.19:

.95=P(-3.182(2,807.6) < b <3.182(2,807.6))
=P(-8,933.8<hb <8,933.8)



Equation 7.20:

95=P(-2.101(1,204.1) <b < 2.101(1,204.1))
=P(-2.529.8<b < 2,529.8)
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Equation 7.22:

95=p| —2.101, [32L 29927 ) 5 109, [321:209,927
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=P(-2,888.2<b <2,888.2)

Equation 7.23:

95=P/(4,000-3.182(2,807.6) <b < 4,000 +3.182(2,807.6))
—P(-4,933.8<b <12,934)

Equation 7.24:

.95=P(4,000—2.101(1,204.1) < b < 4,000+2.101(1, 204.1))
=P(1.470.2<b<6,529.8)



Equation 7.25:

95=P(4,000-2.101(1,374.7) < 8 < 4,000 2.101(1,374.7))
=P(1111.8< 5 <6,888.2)

Equation 7.26:
1-a=P|b< g, +t"?
Equation 7.27:
.95=P (b <4,000+2.353(2,807.6)) =P (b <10,606)
Equation 7.28:
.95="P (b <4,000+1.734(1,204.1)) =P (b < 6,087.9)
Equation 7.29:

.95="P (b <4,000+1.734(1,374.7)) = P(b < 6,383.7)

Equation 7.30:
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Equation 7.31:

75< P(—oo <t < .904) <.90
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Equation 7.37:

Y, =—23,979+4,538.6(13) = 35,023

Equation 7.38:

95=P/(3,845.7-1.96(26.649) < < 3,845.7 +1.96(26.649))
—P(3,793.5< <3,897.9)

Equation 7.39:

.95="P (b <3,500+1.645(26.649)) =P (b < 3,543.8)

Equation 7.40:

GNI per capita = —$6,927.50 + $3,938.10CPI

Equation 7.41:




